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Find the vector equations of the lines through these points.

A(4,0,1) and B (5, 6, 6) r=

C(5,6,0) and D (-1,3,-4) r=

E(-2,-1,2) and F(-4,2,-2) r=

+1

+ 2

+ 2
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Try these.
Press Answer for hints and solutions.

The points A and B have coordinates
(-1, 2, 2) and (4, 1, 3) respectively.

A point C lies on the line through A and B
Answ
and has coordinates (14, p, q).

Find the values of p and q.

Write down a vector parallel to the line 1, = (-1 + 201+ (3+A)j- 3k
Show that if r, = (4 - 4u)i- 2uj + (1 + 61)k
then r, and r, are distinct parallel lines.




